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1. What is the volume of one mole of any gas at STP? 22 L‘ ‘I‘Mf A IMSS

2. How many grams of potassium nitrate will you need to make asolutuon that has a volume of
1.20 L and has a molarity of 0.75M ? Kms is (011 9l oa peciaic ctble
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NJC S Directions: Turn the following into balanced equations by filling in the blanks with the correct
coefficients, formulas of ions or solids, and names.
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12.How many molecules are in 22.4 liters of steam?
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13. What is the molarity of solution made by dissolving 0.740 moles of NH,Br in enough water to make

. mL of solution? . -
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14. What is the volume of 6.02x1023 molec es of Clz gas at S'I‘P"
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